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Ifapfed HIfAA: (a).54655 (b).5816897 (c).94258


https://dl.doubtnut.com/l/_ulsYDlO6S31H
https://dl.doubtnut.com/l/_Zv7FOtYua2rn

(d).49135

A. 54655

B. 5816897

C. 94258

D. 49135

Answer: (a) 54600, 55000, 50000
(b) 5816900, 5817000, 5820000
(c ) 94300, 94000, 95000

(d) 49100, 49000, 50000

O it s



https://dl.doubtnut.com/l/_Zv7FOtYua2rn
https://dl.doubtnut.com/l/_8IzqutpFJ03g

2. 3TTHd Hifor
(a) 830+988

12805+2888

O A&

1.101, 112,99, 100 ¥ & IJaH BIT T g:

A. 101

B. 99


https://dl.doubtnut.com/l/_8IzqutpFJ03g
https://dl.doubtnut.com/l/_QnTW97YrFhau

C. 12

D. 100

Answer: B

O A E

2. 18,4972, 59785 3R 750 ¥ ISH Fo Il

P g ?

A. 750

B. 59785


https://dl.doubtnut.com/l/_QnTW97YrFhau
https://dl.doubtnut.com/l/_LdvVt7kOHgRP

C. 4972

D. 18

Answer: B

O A&

3.1, 7, 6,2 I AT IR 3ih] Bhl TG Tl JeA
gl

A. 1762

B. 7621


https://dl.doubtnut.com/l/_LdvVt7kOHgRP
https://dl.doubtnut.com/l/_XErvEybvPG41

C. 6271

D. 6721

Answer: B

O A&

4.9,7,4, &I AT IR 3id] &I Jad 51 U &

A. 7941
B. 9471

C. 9741


https://dl.doubtnut.com/l/_XErvEybvPG41
https://dl.doubtnut.com/l/_DVhtbSNWwzhx

D. 9714

Answer: C

O dfd &

5.5, 4, 3, 1 3l &l DB IR 3! Hl gad BIdt
e & -

A. 1345

B. 1413

C.1534


https://dl.doubtnut.com/l/_DVhtbSNWwzhx
https://dl.doubtnut.com/l/_sbpcu16OscDw

D. 1543

Answer: A

O &

6.0,4,9 3id § I foodl U 316 &1 @ IR TI0T
PNb IR 3! hl I Fof I :-

A. 4900

B. 4009

C. 9940


https://dl.doubtnut.com/l/_sbpcu16OscDw
https://dl.doubtnut.com/l/_PaKzgnbo1wm1

D. 9040

Answer: C

O dfa &

7.1,2,4,5 &I TAPT H T Iad B U

A.1425

B. 1245

C. 1254

D. 1542


https://dl.doubtnut.com/l/_PaKzgnbo1wm1
https://dl.doubtnut.com/l/_utzpm8PS519R

Answer: B

O dfd &

8. IR Hgfcldl &I cidls 160 IHI, 159 JHT, 158 IH,
154 A 21 31aRE) BH § A ciarean Ay bR g -
A. 154 3tft, 159 I, 160 I, 158 I
B. 160 I, 159 I, 158 IHY, 154 THT
C. 160 9%, 158 THI, 154 I, 159 It

D. 160 I, 159 T, 154 I, 158 It


https://dl.doubtnut.com/l/_utzpm8PS519R
https://dl.doubtnut.com/l/_RlEJRGc5CmVm

Answer: B

O dra &

9.2 3R 3 &I FHM R GERTd §U IR 3ehl Pl A
g2 T @

A. 3322

B. 3232

C. 3223

D. 2332


https://dl.doubtnut.com/l/_RlEJRGc5CmVm
https://dl.doubtnut.com/l/_7sWtqAeAiwhO

Answer: A

O dfa &

10. IR 3ihl bl Yad BIST G&AT)-1 =?

A. Tl 3l bl HaH T8 AT
B. 998
C.990

D. 9999

Answer: A


https://dl.doubtnut.com/l/_7sWtqAeAiwhO
https://dl.doubtnut.com/l/_HLhstPc5hmEM

O rd &

11. d14 371 H I F31 AT+ 1 =2

A. 1001
B. 100
C. 1000

D. 999

Answer: C

O S &



https://dl.doubtnut.com/l/_HLhstPc5hmEM
https://dl.doubtnut.com/l/_dMgqV9LxT0iI

12.100000-1 =?

A. 99999

B. 999999

C. 99099

D. 990999

Answer: A

O dfa &



https://dl.doubtnut.com/l/_dMgqV9LxT0iI
https://dl.doubtnut.com/l/_oz5zxO0zOcvg

13.1 A =, .

A. 10000

B. 100000

C. 1000

D. 1000000

Answer: B

O AT E



https://dl.doubtnut.com/l/_WhRU5HLiTI5A

A 7000000

5 1
~ 10000

1
100000

5 1
" 1000

C.

Answer: A

O SrA &



https://dl.doubtnut.com/l/_LwBZYbn8xush

15. 1 fafer @ = ... g

A. 10

B. 100

C. 1000

D.1

Answer: A

O SrA &



https://dl.doubtnut.com/l/_fQjZsFTI82UE

16. 10 RIS = ?

A. 100 faferaa
B. 10 fafer=
C. 1 faferaa

D. 1000 fAfer=

Answer: A

O A E



https://dl.doubtnut.com/l/_axQQifhXGazO

17. T30 9801, 36501, 25751, 38802 T IRIE!
W%:-

A. 9801, 25751, 36501, 38802

B. 25751, 38802, 9801, 36501

C. 25751, 9801, 36501, 38802

D. 9801, 25751, 38802, 36501

Answer: A

O da &



https://dl.doubtnut.com/l/_zqBJt8ieZ4ud
https://dl.doubtnut.com/l/_5qMhDR8YzVpV

18. 91 31k &1 & 7 Pl IR I I[0M|

A4dx9+ 2
B.9+2 x4
C.4x(9+2)

D. ®lg el

Answer: C

O A&

19. 376RE 3R B: P 3jd? B IR I UIT


https://dl.doubtnut.com/l/_5qMhDR8YzVpV
https://dl.doubtnut.com/l/_qcX0hbIu7rko

A (18 — 6) + 4
B.18 — 4 = 4
C.4+18—6

D.4 + (18 — 6)

Answer: A

O S &

20.3194 Ugfa ¥ fafae:

73


https://dl.doubtnut.com/l/_qcX0hbIu7rko
https://dl.doubtnut.com/l/_6LsxtpAMN490

A XXXCIII
B. XLXXXIII

C.LXXIII

D. Plg T8l

Answer: C

O S &

21. fFafafad 7 I foog I &1 ois 31 T8l & :-

A VX


https://dl.doubtnut.com/l/_6LsxtpAMN490
https://dl.doubtnut.com/l/_ul2V2q92PiFA

B.I11

C. XX

D. XC

Answer: A

O dfd &



https://dl.doubtnut.com/l/_ul2V2q92PiFA

